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Uncorrected resolution analysis

15

-158

-10

' Prdceséor 1
Res=3.9585um

45 0 5 10 15 20

Size of residual £ um

10+

-10

Processor 3:
Res=4.7155um

5 0 5 10 19 20

Size of residual £ um

15

Processor 2:
Res=4.0260um

20 -15 -10 A ] 5 10 15 20
Size of residual f um

15 T T T
Processor 4.
Res=4.0275um

10+ .

5 L

D 1 1

20 -15 -10 A ] 5 10 15 20

Size of residual £ um




Difference from processor 1/ YsM's

Difference from processor 3 f Wsivs

Corrected calibration analysis
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Corrected resolution analysis
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Monte Carlo resolution analysis input : res = 0.1um
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Monte Carlo corrected resolution analysis output : res = 0.1um
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Monte Carlo uncorrected resolution analysis output : res = 0.1um
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Monte Carlo resolution

analysis input : res = 1um
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Monte Carlo corrected resolution analysis output : res = 1um

Processor 1:

Res=1.0833um

-2 -1 0 1 2 3 4 5

Size of residual f um

15

10

| Pr'oce'sscl)r 3':
Res=1.0981um

-2 -1 0 1 2 3 4 5
Size of residual f um

15

Processor 2:
Res=1.1089um

-1 0 1 2 3 4 5
Size of residual f um

| Pfocéssbr 4
Res=1.1464um

-1 0 1 2 3 4 5
Size of residual f um




15

Monte Carlo uncorrected resolution analysis output : res = 1um
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Monte Carlo resolution

analysis input : res = 10um
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Monte Carlo corrected resolution analysis output : res = 10um
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Monte Carlo uncorrected resolution analysis output : res = 10um
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